# AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

				n Page 3
	KISUS.		Date 9-	9-19
Λ	TICHAEL FEE			
of:				, a legall
ate of the	Repu	BLICAN		politic
ice of:	STATE SENI	475 - 3	20TH DISTRIC	-
			100	
eld on:	OCTO	BER 12,	7015	
est station time as	follows:			
Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
6A-7P	JUES-THURS		18	
	of:  late of the lice of:  eld on:  est station time as the limit of Day, Rotation or Package	MICHAEL REAL  of:  MICHAEL REAL  of:  MICHAEL REAL  of:  Percentage  All Parks  MICHAEL REAL  REAL  Parks  Parks  All Park	MICHAEL FILS  of:  late of the	MICHAEL FEST  of:    STATE SINATE - ZOTH DISTRICE   PRIMARY     eld on:   OCTUBER 12, 7015     est station time as follows:     Time of Day, Rotation or Package   Days   Class   Times per Week

national importance," list the	ole or in part, "communicates a message relating matters below:	g to any pointieal matter of
I represent that the payment	for the above described broadcast time has been	furnished by:
X Campaign	io Elect Michael Pesisr.	
and you are authorized to an I represent that this person o	nounce the time as paid for by such person or en rentity is either a legally qualified candidate or he legally qualified candidate.	
The name of the treasurer of	the candidate's authorized committee is:	
X Jessica Rr	odes	
	me its political advertising policies, including: id other sales practices (not applicable to federal	
	OT DISCRIMINATE OR PERMIT DISCRIM Y IN THE PLACEMENT OF ADVERTISING	
To Bo Clause	By Condidate and the office of	
0 9/9/19	By Candidate or Authorized C	<i>committee</i>
Date	Signature	
To Be S	ign <b>ed</b> By Station Represental	tive
Accepted	Accepted in Part	Rejected
ans Di-	CHRIS DIEDRICH Printed Name	Account MANAGE

## AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

ail Themselve	s of The Lowe	est Unit Cha	arge During a	Political
	nordates mus	t Sign The C	certification (	on Page 3
KDU WU	nuch ou	nA, LA	10	1-4-19
	M, CHO	that Fest		
date of the	Rupi	BLICAN		politica
		1		
Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
6A-7P	TUĽ3-WED		12	
	ail Themselve w, Federal Ca  d Location:    Location:   Location:   date of the   loce of:   deld on:   loce of Day,   Rotation or   Package	d Location:    Location:   Location:   Location:   Miles   Mil	ail Themselves of The Lowest Unit Chaw, Federal Candidates Must Sign The Cow, Federal Candidates Must Sign The Cow, Federal Candidates Must Sign The Cow Mus	ail Themselves of The Lowest Unit Charge During a w, Federal Candidates Must Sign The Certification (d)  d Location:    LOCATION:   Date:   LOCATI

For programming that, in whole or national importance," list the matter	in part, "communicates a message relating ters below:	to any political matter of
I represent that the payment for the	e above described broadcast time has been f	furnished by:
Campa	AION TO QUELT MIKE FES	1 52.
•	e the time as paid for by such person or enti y is either a legally qualified candidate or an ally qualified candidate.	-
The name of the treasurer of the ca	andidate's authorized committee is:	
	JESSICA RHODES	
	s political advertising policies, including: aper sales practices (not applicable to federal c	•
	ISCRIMINATE OR PERMIT DISCRIMIN	NATION ON THE BASIS
OF RACE OR ETHNICITY IN	THE PLACEMENT OF ADVERTISING.	
To Be Signed By	Candidate or Authorized Co	ommittee
10/7/19	MASON	
Date	Signature	*
To Be Sign	ed By Station Representati	ive
Accepted	Accepted in Part	Rejected
Signature	CHRIS DIESTRICH Printed Name	ACCOUNT MANAGER

### AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box)	
☐ FEDERAL CANDIDATE	STATE/LOCAL CANDIDATE

To Avail Themselves of The Lowest Unit Charge During a Political Window, Federal Candidates Must Sign The Certification On Page 3

Station and Location:	<b>在我们的</b> 是一个	Date:
Keil Kole ward	- jm	9-26-19
ı,	ICHAEL TEST	
being/on behalf of:		a legally
qualified candidate of the	REPUBLICAN	political
party for the office of: STATE	SUMATE - ZUTH DI	STRICT
in the	PRIMARY	
election to be held on:	OCTUBER 12 2019	<u> </u>
do hereby request station time as follows:		

Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
:60	6A-7P	FRIDAY		6/ STATION	(

Total Charges:	\$468.00	

For programming that, in whole or inational importance," list the matter	in part, "communicates a message rela s below:	ting to any political matter of
*		
I represent that the payment for the	above described broadcast time has b	een furnished by:
CAMPAIC	W TO ELECT MICHAU	- IESI SR.
and you are authorized to announce I represent that this person or entity committee/organization of the legal	the time as paid for by such person or is either a legally qualified candidate ly qualified candidate.	entity. or an authorized
The name of the treasurer of the can	adidate's authorized committee is:	
Juss.	CA RHODES	
This station has disclosed to me its pand discount, promotional and other	political advertising policies, including sales practices (not applicable to federal	g: applicable classes and rates; eral candidates).
	SCRIMINATE OR PERMIT DISCR HE PLACEMENT OF ADVERTISIN	
OF MICE OR ETHINGETT IN T	HE PLACEMENT OF ADVERTISH	vG.
To Be Signed By (	Candidate or Authorized	l Committee
-9/20/19 -		
Date	Signature	
To Be Signe	d By Station Represent	ative
Accepted	Accepted in Part	Rejected
Signature	CHRIS DIEDRICH Printed Name	ACCOUNT MANAGER

### AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box)	
☐ FEDERAL CANDIDATE	STATE/LOCAL CANDIDATE

To Avail Themselves of The Lowest Unit Charge During a Political Window, Federal Candidates Must Sign The Certification On Page 3

Station and Location:		Date:
Ken War	o/kore	9-12-19
I,	MICHAEL FEST	
being/on behalf of:		, a legally
qualified candidate of the	REPUBLICAN	political
party for the office of:	STATE SENATE - ZOTH	DISTRICT
in the	PRIMARY	
election to be held on:	OCTUBER 12, 2019	
do hereby request station time a	as follows:	

**Broadcast** Time of Day, Length **Rotation or** Days Class Times per Number **Package** Week of Weeks 9/17-9/19 9/24-9/26 9/28-10/5 10/10-10/12 18 18 160 42

Total Charges:	\$ 7488	

For programming that, in whole or in part, "communicates a message relating to any political matter of national importance," list the matters below:
I represent that the payment for the above described broadcast time has been furnished by:
Campaign To Elect Michael Fesi SA
and you are authorized to announce the time as paid for by such person or entity.  I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.
The name of the treasurer of the candidate's authorized committee is:
Tessica Rhodes
This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.
To Be Signed By Candidate or Authorized Committee
9/12/19 Jewico Rignature
To Be Signed By Station Representative
Accepted Accepted in Part Rejected
CHRIS DIEDRICH ACCOUNT MANAGEM  Signature Printed Name Title

### WGUO GUMBO 94.9 PO BOX 20099 HOUMA, LA 70360 USA

Mike Fesi

Advertiser ID: 383

Amount Paid\_

9/30/2019	1
Date	Page
	7,00,2017

DETACH AND RETURN WITH PAYMENT

383-00011-0000

O 9/30/2019

- 1

Mike Fesi State Senate \_LA

Purchase Order Number:

Est. Number:

Co-Op:

Description: State Senate

Salesperson: STATION LIST 1, JOE

Date	Day	Leng	gth							Qty	Rate	Total
9/10/2019				WGUO	07:47:45 AM 05:45:30 PM	09:16:00 AM	10:45:00 AM	12:45:30 PM	04:45:30 PM	6	\$38.00	\$228.00
9/12/2019	Thu		1:00	WGUO	06:45:00 AM 01:16:00 PM 06:15:00 PM	07:28:00 AM 02:28:00 PM	09:28:00 AM 02:45:30 PM	11:15:00 AM 04:15:00 PM	12:28:00 PM 05:15:00 PM	11	\$38.00	\$418.00
				From 09/11/							\$38.00	\$38.00
9/13/2019	Fri	MG	1:00	WGUO	05:28:00 PM					1	<b>\$36.00</b>	\$36.00
											=	
	L								Quantity		18 Total	\$684.00

\$684.00 \$684.00

INVOICE

#### Mike Fesi

Advertiser ID: 383

Amount Paid\_

9/30/2019	I
Date	Page
	7/30/2017

DETACH AND RETURN WITH PAYMENT

383-00014-0000

O 9/30/2019

Mike Fesi State Senate  $\_LA$ 

Purchase Order Number:

Est. Number:

Co-Op:

Description: Tough Times/Common Sense Salesperson: STATION LIST 1, JOE

Date	Day	Length							Qty	Rate	Total
9/17/2019			WGUO	06:15:30 AM	08:16:00 AM	11:45:30 AM	12:45:30 PM	02:29:00 PM	6	\$38.00	\$228.00
3/11/2010	""			06:46:30 PM							
9/18/2019	Wed	1:00	WGUO		08:45:00 AM	11:29:00 AM	02:29:00 PM	03:46:30 PM	6	\$38.00	\$228.00
9/19/2019	Thu	1:00	wguo	05:29:00 PM 07:16:30 AM	09:29:00 AM	10:46:00 AM	12:45:30 PM	04:46:30 PM	6	\$38.00	\$228.00
				06:28:00 PM						***	****
9/24/2019	Tue	1:00	WGUO	06:46:00 AM 05:45:30 PM	09:28:00 AM	11:28:00 AM	01:28:00 PM	02:45:30 PM	6	\$38,00	\$228.00
9/25/2019	Wed	1:00	wguo		08:45:00 AM	12:15:00 PM	02:28:00 PM	03:15:00 PM	6	\$38.00	\$228.00
				05:29:00 PM						#20 00	£228.00
9/26/2019	Thu	1:00	WGUO	07:15:30 AM 06:15:00 PM	09:45:00 AM	11:45:00 AM	01:15:00 PM	02:46:00 PM	6	\$38.00	\$228.00
9/28/2019	Sat	1:00	wguo		01:28:00 PM	03:15:00 PM	04:45:00 PM	05:18:00 PM	6	\$38.00	\$228.00
				06:15:00 PM						\$38.00	\$228.00
9/30/2019	Mon	1:00	WGUO	11:45:00 AM 06:48:00 PM	12:28:00 PM	01:28:00 PM	02:45:00 PM	06:15:00 PM	6	\$38.00	\$220.00
				00.40.00 1 111							
											1
											1
								Io		40 T-1-1	\$1,824.00
								Quantity		48 Total	31,044.00

Quantity

48 Total

**Total Due** 

\$1,824.00

#### Mike Fesi

Advertiser ID: 383

Amount Paid

383-00014-0001	10/31/2019	1
Official Invoice	Date	Page

DETACH AND RETURN WITH PAYMENT

383-00014-0001

O 10/31/2019

1

Mike Fesi State Senate \_LA

Purchase Order Number:

Est. Number: Co-Op:

Description: Tough Times/Common Sense Salesperson: STATION LIST 1, JOE

Date 0/10/2019 0/11/2019 0/12/2019	Day Thu Fri Sat	1:00	WGUO	05:28:00 PM	12:15:00 PM	01:45:00 PM	02:45:00 PM	03:17:00 PM	Qty 6	Rate \$38.00	Total \$228.00
0/11/2019	Fri	1:00		05:28:00 PM	12:15:00 PM	01:45:00 PM	02:45:00 PM	03:17:00 PM	6	\$38.00	\$228.00
			WGUO								
0/12/2019	Sat			10:15:00 AM 06:45:00 PM	11:45:00 AM	01:15:00 PM	02:28:00 PM	05:45:00 PM	6	\$38.00	\$228.00
		1:00	WGUO		08:17:00 AM	12:17:00 PM	01:45:00 PM	03:28:00 PM	6	\$38.00	\$228.00
					Code: BM_NS	J_TAILGATE_	REDO				
10/1/2019	Tue	1:00	WGUO	06:15:30 AM 06:15:00 PM	09:28:00 AM	10:45:00 AM	01:45:30 PM	04:45:30 PM	6	\$38.00	\$228.00
10/2/2019	Wed	1:00	WGUO		09:45:00 AM	10:45:00 AM	12:45:30 PM	03:15:00 PM	6	\$38.00	\$228.00
10/3/2019	Thu	1:00	WGUO		11:15:00 AM	01:15:00 PM	03:15:00 PM	04:28:00 PM	6	\$38.00	\$228.00
10/4/2019	Fri	1:00	wguo		12:28:00 PM	02:15:00 PM	02:45:00 PM	04:15:00 PM	6	\$38.00	\$228.00
10/5/2019	Sat	1:00	WGUO		09:47:30 AM	11:46:00 AM	01:29:00 PM	03:45:00 PM	6	\$38.00	\$228.00
				8							
										10 00 1	61 924 00

Quantity

48 Total

Total Due

\$1,824.00 \$1,824.00

### WGUO GUMBO 94.9 PO BOX 20099 HOUMA, LA 70360 USA

Mike Fesi

Advertiser ID: 383

Amount Paid

383-00016-0000	9/30/2019	1
Official Invoice	Date	Page

DETACH AND RETURN WITH PAYMENT

383-00016-0000

O 9/30/2019

1

Mike Fesi State Senate \_LA

Purchase Order Number:

Est. Number: Co-Op:

Description: add on - Sept 27 Salesperson: STATION LIST 1, JOE

Date	Day	Length							Qty	Rate	Total
9/27/2019	Fri	1:00	WGUO	07:29:00 AM 02:48:00 PM	10:47:00 AM	11:28:00 AM	01:29:00 PM	02:15:00 PM	6	\$38.00	\$228.00
								Quantity		6 Total	\$228.0

Quantity

6 Total

\$228.00

Total Due

\$228.00

#### Mike Fesi

Advertiser ID: 383

Amount Paid

383-00017-0000	10/31/2019	1
Official Invoice	Date	Page

DETACH AND RETURN WITH PAYMENT

383-00017-0000

O 10/31/2019

Mike Fesi State Senate \_LA

Purchase Order Number:

Est. Number:

Co-Op:

Description: add on Tues/Wed Oct 8-9 Salesperson: STATION LIST 1, JOE

Date	Day	Length							Qty	Rate	Total
0/8/2019	Tue	1:00	WGUO	06:30:00 AM 02:28:00 PM	07:15:30 AM	10:15:00 AM	11:28:00 AM	11:45:00 AM	6	\$38.00	\$228.0
0/9/2019	Wed	1:00	WGUO	10:45:00 AM 06:45:00 PM	11:31:00 AM	01:28:00 PM	04:30:00 PM	05:15:00 PM	6	\$38.00	\$228.0
											=

Quantity

12 Total

\$456.00

**Total Due** 

\$456.00

Mike Fesi - State Senator Dist 20

Advertiser ID: 819

Amount Paid

383-00020-0000	10/31/2019	1
Official Invoice	Date	Page

DETACH AND RETURN WITH PAYMENT

383-00020-0000

O 10/31/2019

1

Mike Fesi - State Senator Dist 20 3341 Bayou Black Dr Houma, LA 70360

Purchase Order Number:

Est. Number: Co-Op:

Description: 10/16-18:15 spot

Salesperson: STATION LIST 1, JOE

Date	Day	Length							Qty	Rate	Total
10/16/2019		:15	WGUO	06:17:30 AM	09:30:30 AM	12:47:00 PM	03:17:00 PM	04:47:30 PM	6	\$25.00	\$150.00
10/17/2019	Thu	:15	wguo	06:48:00 PM 06:29:30 AM	08:17:30 AM	12:30:30 PM	02:16:45 PM	04:18:00 PM	6	\$25.00	\$150.00
10/18/2019	Fri	:15	WGUO	06:17:15 PM 07:18:00 AM 05:28:30 PM	09:30:00 AM	10:47:30 AM	12:47:45 PM	03:17:30 PM	6	\$25.00	\$150.00
								Quantity		18 Total	\$450.00

Quantity

\$450.00

**Total Due** 

\$450.00